TR ERRTL 1108488 ZH ONFR BE2H F ke
— IEEEESY) 436 4
1 2 3 4 5 6 7 8 9
B hC| A B D C | D | B A
=~ EHFRRE(EIUSY) $£56 4
©) @) 3 @ ® (6) ©
Bl 27 |36 | =6tF 5 (X0 (2x5) (1)
® ® @0 @ @2 @3 )
(%3)) (03] — CXNOB) -)22) g 24 2¢ 27
=, BIEE (s 84y
1. 2. ]
g ERZMEENR (142 (12| BRHH
Ny, RIEHFLE ERERZ/DAD? (4x—3)7— (4x—3) x—4) + (x—2)°
Ny G 2 > - . o > :
= [(refime = fm | ) oA = oxp) -2 (#5562
24)) -+ CTM\V Q\\u/
- - 2
- HELH (a3 xt2) e 15)
= (hre)(Sr-=2) = AWX\CW mV.\V\/w
~ > .
=3 ) mev.«vw >\+Nwl\%¥\w~v¥$\ww
> -
B + (X=Xt = ()
= = /5 - A S5
#) = Zx=Ext) i)
= (XA - (25)
53 H -3t 3 H




